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1. o Rewmzs o[ oafed o wm Tewh b
Tferear : 1x6=6

Find out the correct answer from the
alternatives given in each question :

(a) 519 R RO 519 O (IR TR, CTRCBT (2R

When counting is done, we get the data
of a

(i) ffoza 519 /discrete variable
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(2) .

(i) SRfks 567 /continuous variable
(iii) TfeF 551¢ /random variable
(iv) 8%¥] b8 =¥ /None of the above

(b) WO AR W& oA Tr@1 9o IRACA AT
91 TEICOT =R

For comparing variability of two series,
one should calculate

(i) ST BN
coefficient of correlation
(i) o3 BN
coefficient of variation
(i) TPIF Roer Bl
coefficient of quartile deviation
(iv) SE-SRoPLTF AT

semi-interquartile range

(¢ IMB, >3 W, (AR IBADIF (PRI

If B, >3, then the distribution is said to
be

() A% FMF
leptokurtic
(ii) R0
mesokurtic !
(i) cafoFIfoe
platykurtic
(iv) e

symmetric
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(d) If () ry, >0, then (CSCTR'T)

(e)

P23/28

(i) cov(X,Y)=0
(i) cov(X, Y)<O
(iii) cov(X, Y)>0
(iv) cov(X, Y)=—(cxOy)

X HF Y9 AT Q95 0-6 ¥ 3209 4-8.
XJ #_9 9 T, Y I 0o =7
The coefficient of correlation between

X and Y is 0-6. Their covariance is 4-8.
The variance of X is 9, then the SD of Y
is

4.8
3x0-6

(i)

(@)

4.8x3
i) —m88—
(i) 4.8%x0-6
4.8

v
w) 9x0-6

A SF B Wbl ®F I PO CfAl IR
ey

In case of two attributes A and B, the
ultimate class frequency is

@A) (A) (i) (AB)
(i) (o) (iv) (B)
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2. wm%@ﬁﬁm:

Answer the following questions :

(a) woTe TrEy 91 OIPTR RS (RALE Pl
Q¥ IS QIR B e I
NRA 93 2FS A : 2

(i) @ (Fefon)

(i) feizt (o)
? (i) TR (fe IPTee, RERP, SIEE)
Prepare a blank frequency distribution

table of students of a college including
the following information :

(i) Class (three)
() Sex (two)

(iii) Residence (own house, hostel,
rented house)

(b) <1 RIS IG vgAT fofes eI
QNF Cxe 0-6. I TH W ¥ 59T
@EFE 100 [ JF IYHR 9 38 2,
(STZ’TE T S A A T Tfered | =
In a frequency distribution, the
coefficient of skewness based upon
quartiles is 0-6. If the sum of the upper
and lower quartiles is 100 and the
median is 38, then find the values of
upper and lower quartiles.
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() oI TMEF SAFd OWRERD @ OF (T
3X+2Y =26 WF 6X+Y =31 rxyd T

Tfenear | ‘ 4
Two random variables have the
regression lines 3X+2Y =26 and

6X +Y =31. Find ryy.

(@ f =R, (AB)=150,  (AB) =230,
(@B) =260, (@p) =2340. S JRLITOPTHZ
HE NT T Sfered | 2

Given that, (AB)=150, (AB)=230,
(@B) =260, (@f)=2340. Find the other
frequencies and the value of N.

3. () AR SR @RE [fen ez o
% 7 TH=IPTR AT Tl A | 7

What are the different measuring scales
to measure statistical data? Define each
of them with suitable examples.

<1 / Or

(b) SRIYRDFT HF BROF O [T FM1 1] €1
SR TAFI I 40 3+4=7
Explain quantitative and qualitative
data. Illustrate the graphical represen-
tation of data.
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4. (@) wefT e R 39 2 2R A CREACT T
@?WW@WW&WWW
womﬁﬁswmmﬂm 3%
ﬁmmm,amwwmﬁﬁwm
ST | I B A% P el
29 0-32, TR e oo 65 A HG

29-6 3°73, IBCHR Tees T AT T
2+2+2+3+3=12

What do you understand by skewness?
How is it measured? Distinguish clearly,
by giving figures, between positive and
negative skewness. Also show the
relative positions of mean, median and
mode in the figures, for positively
and negatively skewed distributions.
Pearson’s coefficient of skewness of a
distribution is 0-32, its SD is 6-5 and
mean is 29-6. Find the mode of the
distribution.

\

w12<1 / Or

(b) B IRERS] I R AR WY Se
@By g e | o @y g S
TR FCeAfe S T Toh] Tl |
TG (R e skenerrR & 6
GRICT 51 3% =g 5 AR e B!
g @A -4, 22, -117 WF 560 ,

(SER'TE Y CACE Sl WYL T
Sferea | 3+3+2+4=12
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(b)

pP23/28

(Y

Define raw and central moments of a
frequency distribution. Obtain the
relation between the central moments of
order r in terms of the raw moments.
What are Sheppard’s corrections for the
central moments? If the first four
moments of a distribution about the
value 5 are equal to —4, 22, -117 and
560, determine the corresponding
moments about the mean.

el PoReR TTEm g ke fi |
C(Sd @, TR QIE TARY SE Al
ARG w1 I IEReI TR
QFR TN TSl | FRE, YIEF A [0

T BN 2T el | 2+3+4+3=12

Define Karl Pearson’s coefficient of
correlation. Show that the correlation
coefficient is independent of change of
origin and scale. Find the limits of Karl
Pearson’s coefficient of correlation.
Distinguish between positive, negative
and zero correlation coefficient.
<1/ Or

751 SR A e FRI 1 foran = R
FICAT B ATHACRR0] SFer 41 | (rY&dl @,
ARy “RTST TR AAEFG F2R T ASHITS

T | TR &9 0 MM X=--1%+A F
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(8)

Y =-2X +p =, (92 '7d Y =109 F[€T X7
WWWW\-)(A,H)WGWHW

T4 038 (-1, 2). A T, A, pd T Sfere |
2+3+2+5=19

Write the two regression equations for
two variables and estimate the
constants of any of these regression
equations. Show that the regression
equations are affected due to change in
scale. Estimate X when Y =10, if the two

lines of regression are X =—I-8—+?» and

Y =-2X+u, (A, n) being unknown and
the mean of the distribution is at (-1, 2).
Also compute r, A u.

6. (a) Tl BT A W® BI IR N7 v Sae
S| 92 0l B A0 FOFOR BT e |
3+3=6
State the conditions of consistency for
two attributes A and B. Give the
criterion of independence for these two
attributes.

%</ Or

1 (b) T @9 @A E@EF REA AE AT

! RN =W ? TR RN BIRF AE I
QNI 4 o | 2+4=6
When are two attributes said to be
positively associated and negatively
associated? Define Yule’s coefficient of
association and the coefficient of
colligation.
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Time : 2 hours

for the questions

I-WWWMW@%W?T@

Sferedr : 1x4=4
Find out the correct answers from the
alternatives given in each question :

\
|
The figures in the margin indicate full marks

(@) ot R R vereT O ¢ A, G201 G’
When counting is done, we get the data
of a

(i) fafozs oo
discrete variable
(ii) SRfo2E Sl
continuous variable
(iii) T(O=P BT

random variable

(iv) S7[{F GGle =¥

None of the above
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(c)
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( 10 )

STl
(b) @WWW«MWW

1 1101 C2CR _
For comparing variability of two S€ries,
one should calculate
(1) ST I
coefficient of correlation
(ii) 539 @

coefficient of variation
(i) ST Rvei B

coefficient of quartile deviation
(v) S-S “ifom

Semi-interquartile range

X FF Y9 07w QT 0-6 F I 4-8.

XI ?RA 9 e, yI Yoe [oew 21

The coefficient of correlation between
X and Y is 0-6. Their covariance is 4-8.
The variance of X is 9, then the SD of Y
1s

: 4.8
@ 3x0-6
0-6
4-8x3
3
4-8x0-6
4.8
9x0-6

(12)

(i)

()
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(d) A W% B qb1 g9 3@ jors ol TS

234

In case of two attributes A and B, the
ultimate class frequency is

1) (A)

(i) (AB)
(i) (o)
(iv) (B)

2. TR P Ted fau

Answer the following questions :

(a) oS TCEY A SIPTR MRE @EANF @Al
9 TN RPN 679 . IER!
TR 93 2FS 9 2
Prepare a blank frequency distribution

table of students of a college including
the following information :

(i) @ (fefon)
Class (three)

(i) fezst (761)
Sex (two)
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(b)

(c)

(d)

P23/28

(12)

S/HTER)
e AT Z@E@rT, T

(i) AEA ( .
Residence wnl
rented house)

(o

o{f ST
<51 IRERE AT 94T ffee ™
aqE g 06, I IW
@eFs 100 W T
o ce O o fAE Tl A
In a frequency distributi
coefficient of skewness based upon

quartiles is 0-6. If the sum of the upper \

and lower quartiles is 100 and the
median is 38, then find the values of

upper and lower quartiles.

on, the

B e Tered WREA (Al qoE (TR
3X+2Y =26 WF 6X+Y =31 rxyd T
Sfere |

Two random variables have the
regression lines 3X+2Y =26 and

6X+Y =31. Find ryy.

i W, (AB)=150,  (AB) =230,
(@B) =260, (af) =2340. TN IFIEOPHE2
JqE NI I Sfered |

Given that, (AB)=150, (AB) =230,
(@B) =260, (af)=2340. Find out the
other frequencies and the value of N.
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3. (a)

(b)

pP23/28

{ 18 )

S IERINE IR SR Erara RfSa wepTys
e 2 TRt reRR Sicw fa 7
What are the different measuring scales

to measure statistical data? Define each
of them with suitable examples.

SR{T1/ Or
@3 TR AR S wew e w59
T il 49 - 5+1+1=7

The following data set represents the
marks on exXaminations of 40 sixth
grade students at a particular school :
35,7488 65,22 F5TR60 SIS sS4
92 8720 6oL, DT 033 69k
77, 49, 56, 33, 43, 58, 81, 72, 44,
ST 72 60,736 ¥40F 63 F00N84 8511
ORI ()
() @2 SYRM IFARC TOGo  ToFIM
BN
Present this data set in a frequency
histogram.
(f) IO A TS FHRF RIT 0%
R ?
Which class interval contains the
greatest number of data values?
(ii)) S N SRS oML SN FARIIE
O IR S 2
Is there a roughly equal number of

data in each class interval?
{ Turn Over )
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4. fa) wsfes 3 B 3w 2 SR wet @ @R
|2 BaR e @R W wawe S2AfST
=BT e w1 e gt s 355
IS T, 3o W e SR FPER
CTYSTT | RTCAT @B 351 Pz SeifSir0
BT 0-32, WR yF (oo 6:5 SF 0

; BB I o 41 |
s i’za’ \ it ﬁ2+2+2+3+3=12
What do you understand by skewness?
How is it measured? Distinguish clearly,
by giving figures, between positive and
negative skewness. Also show the
relative positions of mean, median and
jRode) ing the figures, for positively
and negatively skewed distributions.
Pearson’s coefficient of skewness of a
distribution is 0-32, its SD is 65 and
mean is 29-6. Find the mode of the
distribution.

&</ Or

(b) 9B IR A% gt AP YA €
PR WY e i | rou (PE ST SE
CTORE SHcA e wirgef e FeiFeoT S |
CoTeT Ry Wy senerz [ e 3
PR b7 IB Cgoger 5 AR 22 B
w9l @ -4, 22, -117 WF 560 A,

(SR W AT Sl WY A
Sfeyea | 3+3+2+4=12
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Define the raw and central moments of
| f!‘¢que11cy distribution. Obtain the
relation between the central moments of
order r in terms of the raw moments.
What are the Sheppard’s corrections for
the central moments? If the first four
moments of a distribution about the
value S5 are equal to -4, 22, 117 and
560, determine the corresponding
moments about the mean.

5 (@) ¥ fieew sorm aa@d e
(RS @, oTIw @S PRy e
: Re$w  FReors | el PEEeR RTI
: BN TF Sforear | @, IS SF TV
ST G 2T S | 3+3+3+3=12
Define Karl Pearson’s coefficient of
correlation. Show that the correlation
coefficient is independent of change of
origin and scale. Find the limits of Karl
Pearson’s coefficient of correlation.
Distinguish between positive, negative
and zero correlation coefficient.
<1/ Or

(b) T SR I R SR o o W 7
CIICAT GO ST6ECI2H] SRFer 41 | (TS

fARR “iReSTg =@ srEd 2 T ARG

| TREET @1 o1 3R X=—IY§+?»W

Y=-2X+u =¥, (ot1R’7e1 Y =10% FWT XI
T e 390 | T (A, p) SRS HF IBAGH

1 CCR (-1, 2). FMTS 7, A, u T ST |
2+3+2+5=12
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(@)

(b)

(16 )

i ions for
Write the two regression equati

two variables and estimate Fhe
constants of any of these€ regressfon
Show that the regression
equations are affected due to change in

scale. Estimate X when Y = 10, Yif the two
lines of regression are PAY s +A and
) being unknown and
n is at (-1, 2).

equations.

Y=-2X+u, (A4 \
the mean of the distributio

Also compute 7, A, H.

@TmAmecﬂ@rﬁ@ﬁW Ty
Wna?zh@ﬁwqmwwm|2
+3=5

State the conditions of consistency for
two attributes A and B. Give the
criterion of independence for these two
attributes.

531/ Or

T @ @feN WIEE AR SF MR
NN W2 TR ORAN GMF SE SIFT
@QTEFI 3 fer | 2+3=5
When are two attributes said to be
positively associated and negatively
associated? Define Yule’s coefficient of
association and the coefficient of

colligation.
* %k %
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